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N & 0l & At

& LESIH L JIEISESNH 4TS ~ 4SS

|
ANHE A2 & AL X3

&

o

Al A

CB SR (B) - KIRAY - BES il 2
SRS 236,352 214,337 22,015
Slls AHE 159,780 138,810 20,970
FONXIME W28 & HAYAE X2 112,790 91,820 20,970
FURMXAEH 29 57,580 57,580 0
201 Let24dy] 57,580 57,580 0
01 At 2teltl 57,580 57,580 0
OFUXXNHH2H 57,580,000& 57,580
FOEOAL XA 55,210 34,240 20,970
201 £B-2dH| 41,940 27,140 14,800
02 =224l 25,440 24,640 800
OEAMRBAZIHAIAEEEZ 275,000& 128 3,300
OXt& =Xl 5,000,000& 5,000
OFAL e TAJARS
800,000& = 1242 9,600
O&F=J| &2yl 300, 000& »3CH 900
OgdIl |RAE=H 70,000& 1201 & 840
OF AL HEtEIAIAE S X 22l
200,000& =23] 400
O&AN ALFYEHH 400,000& x13l 400
OF AL X 22l 5,000,000& 5,000
A2 HHI 16,500 2,500 14,000
Ogl&=0l=HMAEH 2,500,000 2,500
OAlIQlstg stotESH =l 14,000,000 14,000
QR =T 2,070 2,300 A 230
ANH#HZ=EHSZ= A 2,070 2,300 A 230
OsHYSAMZFA 2,070,000 2,070
gIztol 2,000 2,000 0
QIZHHALE = 2,000 2,000 0
O222%H &SH0|l AEHS0l HAXRA
2,000,000 2,000
AEHI L2 0HbI 5,000 0 5,000
A& HI 5,000 0 5,000
OU=HA 2C HFAHIA 5,000,000 5,000
AHebE S| 4,200 0 4,200
A E S F S 4,200 0 4,200
O=g=sAl 2¢ 4,200,000& 4,200
2S84 46,990 46,990 0
ZESEBANA 46,990 46,990 0
ALtE A S 46,990 46,990 0




2 ATH
o AT

o
oo Sl

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

052 -EtEEsEL 46,990 ,990 0
os&s4Y 200,000 x13H x12& 31,200
OsS&ANHZ 200,000 x13H 23| 5,200
OS&3o&A 20,0003 *13Y *12& 23] 6,240
(@)= FS="=—3:] 50,0003 x87H 13| 4,350

HHSHAH (MATHSE) 76,572 527 1,045

claady|(AllS) 22,632 ,567 1,065

XNEHOIAHH| (A S) 22,632 ,567 1,065

101 @1 21| 22,632 ,567 1,065

03 2IHAZ = XHE 22,632 ,567 1,065
OF AL E20I 22,632
ePiR==1 818,400 x1H x12& 9,821
-&0 2 9,820,800 *1/3 3,274
-Al2ERI =& 6,970& 1P x22A| 2t x 128 1,841
-2 2xg 55,800& x 1Y *x2L x 128 1,340
-F=54 37,200 1 x52F 1,935
RSN~ Ea = 37,200& x1H 15 558
-JIEx4 20,000& x5 x12& 1,200
~HHZAH| 80,000& *1H +x12& 960
-WEE A 60,000& x1H x12& 720
=R E=l ] 818,400& *60%*23] 983

|22 (AT S) 53,940 1960 A20

JI2dH(4IHs) 53,940 ,960 N 20

201 et d| 27,160 ,680 480

01 At 2+2/H 10,160 10,480 320
OFMS8Y AFR 22/ 4| 10, 160,000& 10,160

02 352494l 17,000 ,200 800
OdIIe=2 12,000,000 12,000
OMdle=E=ER22 1,500,000& 1,500
oREe2 3,500,000& 3,500

202 04d| 17,160 ,360 A 200

01 2L Y| 17,160 ,360 A 200
O22=&0H| 1,800,000 1,800
OJl24+dudl(8 15,360,000 15,360

203 &R =&H| 9,620 ,920 A 300

01 J|22HERFX 6,600 ,600 0]
OJ|a2gges 6,600,000 6,600

02 BRI EREX 320 320 0
OFJ IS RE 40,0003 »8H 320
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